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Day 4 Fluency 10

10 questions in 10 minutes...are you up for the
challenge?

Going through the answers and discussing them is even more important than
them completing the task...

1) Increase 45 by 17

2) Decrease 99 by eleven

3) What is 2 lots of 127

4) Combine 9, 4 and 5

5)78-22 =

6) Ten less than 12 = ?

7) Use the inequality signs to complete this number
sentence 8+3 o 20-10

>< =
8) Write one hundred and twenty eight in digits

9) 10 more than 70 is ?

10) 3 is 3 more than ?
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Frog Challenge 4

- a) Alex has 23p.

Diroree the money Alex could hove.

ﬂ-%idihlhg'whﬂunwﬂnfmuin [ }
each pair?
Tick your anrswer.
a) b} Armir hos £23
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Teddy hos the same amount of pounds os
Eva but fewer pence.

How much money could Teddy hove?

Howr did you compare the amounts? g‘ £ and t]

) write <, > or = to compare the omounts. ) write <, > or = to compare the amounts.

a) f3and Jn-pO £3 and 27p
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b) £5 and 67p O £2 and 67p
] £10 and SPOIWGME{D
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a Camplete the statements,

a) £7 and 2ip = £ and P

o Drow money to make the statement correct, @
T:nﬂ@ @ ¢) £7and 21p = £ and p
@ ®® ‘. I there more than one way to complete

each stotement?

@@ . Talk about it with a partner.
i, .

by £ and p > L7 and 21p
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